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= Year 7/8      = CHANCE & DATA      = Worksheet 2
	1. A card is drawn randomly from a deck of 52 playing cards. Determine (a) 
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	2. A card is drawn randomly from a deck of 52 playing cards. Determine (a) 
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	3. A card is drawn randomly from a deck of 52 playing cards. If this is repeated another 259 times (i.e. 260 draws altogether), how many times do you expect to draw an ace of spades?

	4. A fair die numbered from 1 to 6 is rolled and a 5 appears uppermost. What is the probability that a 5 appears uppermost if the die is rolled again?

	5. An ace is drawn from a deck of 52 playing cards and put back into the deck. What is the probability that an ace is drawn in the next draw?                                                          
                                                                 
	6. An ace is drawn from a deck of 52 playing cards and put aside. What is the probability that an ace is drawn in the next draw?


	7. A person has equal chance in heading east (E) or heading south (S) at an intersection. Find the probability that the person follows the path ESES travelling from A to B?
                                        A                                  N
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	8. A fair die numbered from 1 to 6 is rolled and you know that an even number appears uppermost, what is the probability that you pick correctly the number appeared uppermost?

	9. A first prize is to be drawn from 1350 raffle tickets. If you have 27 tickets, what is the probability that you win the first prize?

	10. A bag contains 5 coins, 10c, 20c, 50c, $1 and $2. If two coins are drawn randomly together from the bag, what is the probability that the total amount is more than $1.20?

	11. A bag contains 5 coins, 10c, 20c, 50c, $1 and $2. If two coins are drawn randomly one by one from the bag without replacement, what is the probability that the total amount is more than $1.20?

	Numerical, algebraic and worded answers.


1.  (a) 13/52 or 1/4  (b) 4/52 or 1/13


2.  (a) 1/52  (b) 16/52 or 4/13


3.  5 times


4.  1/6


5.  4/52 or 1/13


6.  3/51


7.  1/4


8.  1/3


9.  27/1350 or 1/50


10.  1/2  


11.  1/2
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